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Let the 72y come and push away the 7wyn 8>

Overview

The mawn stated' that if the girl is forbidden to the oaxn for legal reasons, he is not
permitted to marry her. The X713 asks, let the 7wy mxn of 7wR? 7°7n 121 push aside
the 7wyn X, and he should be permitted to marry her. m»oin discusses which X%
owyn are we referring to here.

= 3WU IND 1A PN NNT 7299 2799 927 N2 NSNIN IND
The %773 is not asking regarding the case of 7119¥ 9237 X2 Xx»1, which is mentioned
in the mwn, that they should be permitted to be together since the nwy of 7°7n XM
nwXY should push away the n" (of a nvI0); this cannot be the question, since by a

7010 there is both a I8Y and an 7wY. Mmoo proves that by a w0 there is a 7wy n"5 -
= N9N0IV NVID MY #9290 NHYA D91 XY (owr 3,50 91 TNAT NP 7992 1999N1

As the X 13 states in the first a9 of nmas noon that the 105 of Ay 77oPa Ho1 KRY is

written to include a X, for a ;7010 who secluded herself -
- 693925 10 Y29 TN SANNVIY IRDVI (3,15 97 70ID) JIIYATY INY 139999

So this ("1 77792 %01° XY) is the WY (by a 7v10) and the 2’105 of INMWIY FIRBYI teach
us that there is one 7wy prohibition for the husband to live with the 710, and one
7wy prohibition for the adulterer to live with the o -

= 77999 YNPY NN NINYN NN
Rather the X713 is asking regarding a woman who is not fit to marry into »mp
o8, like a naman, where there is only a W%, so the 7wy should be 7m7 the n'".

!'®,09. The 71wn mentions two cases, either 727 N1y X2 R¥AI, or PRIW 2 XY PIRY 7I0KW.
2 This is referring to a case where she became a 7010 (she was [possibly] 1) after their marriage; in which case the
husband cannot continue living with her.
3 An awy can be nm7 a 0" by itself, but it cannot be M7 a AWy 1" together.
4 This is a P09 in 7,73 (X¥N) 0™27 regarding a NRWIWN N3 °1n; however we expound this P05 to place a X on
one who has relations with his 7010 wife who was 77n01.
3 This refers to two D109 one in 7°,7 (XWw1) 72712 which states ARMLI XM INWR DR X3P, and the other (in v3 7oD OW)
which states Ixnv11 W R Nnn. See the X3 there in VIO 'on.
¢ We have therefore a ("3 77v2 9317 X?) W7 and an (78»011) 7wy for a 70 and an WY cannot be 7MT a 7wy N">.
7 The mwn states mpP? XwA AR, which indicates that he was already married to her and then something happened
which causes the nn»p? kw1 R, This would indicate a 7010 situation, which occurs after the marriage. Therefore it
would be preferable that the X713 is referencing this case of 1010, rather than the case of a n7mn (for instance), where
he cannot marry her in the first place, so the term 7»°°p% "KW WX is not (that) appropriate. Nevertheless n»on
concludes that we cannot be discussing a 7010 but rather (reluctantly) a namn.
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nvoIN asks:
- VYN XY SN HUY S59) 7599 SN TN ON)

And if you will say; but what does the X713 asks that the 72y should be 7717 the

n'"%, and allow them to marry -
- )9 9NN DUN 1T MIVUNI NITHA NYPN WIT XD

But the mwn» explicitly expounded the P (of 7w 0 X91) that we require a
wife which is fit for him, and these women are not fit, for they are 57p2 X27 77181 79X —

NvOIN continues to ask:
=19 NN NINRY YVIWNY NP TPI0NN INNT YR TNYY 29UN RDT 1IWNT INND)

And according to what the X713 answers (on the question of n"2 A7) "WYY °n°Y)
that this is not considered an 7wy which can be 7m7 a 0", there is also another
difficulty, for why do we need the P19 of TWKR? 11°7n 17), to exclude a woman who
is not fit from him; it is obvious; if he is not permitted to marry her, how can he marry her?!

nBoIN answers:
= PIINNI NPT P90 RIPT NNNSN INIT 9217 W

And one can say that in the 7122, he did not exclude 7187 71X AWK because of

an extra oD (of nwR> 710 19) as we assumed until now -
=19 NN NINY AYNR LYNN 290D NNYTN YIYN AYNRD NN 19T NON

For rather mwx» 7970 Y9 (only) indicates that the marriage must be with her
consent, so therefore (once we know that it must be 1nv7») we can exclude an 7WN

Y 5IMIRT TR (for we will not say n"97Y) -
= AYYN XY INT XD NYY 2PUN KD 7a91 DD NYYY NN 9 N%D NIPYa XY N9IN N NNT

Since if she says, ‘I do not want him’, there is no M2y at all, therefore it is not

considered an 7wy, and it is not 7m7 the n''™; this is the explanation of the mwn -
= 107YYN NY NI NWY 1Y 1150 NIPYa NIRRT NI RNWYN TP997 TNYT XPYD 01PN Do

But nevertheless X175 27 who challenged the ruling assumed that when she says,

‘I want to marry him’, in that case let the 772y come and be 7m7 the n'% -
- lpyaya 095 997 KYT DUY 2PUN KY 199 KPP NN 19PONT 7100

8 See ‘Thinking it over’.

%1t is not the type of 7wy that can be 7mM7 a N7 since she can refuse the marriage, so in that case there is no 7wy.

10 The 709 of AWK 770 X1 does not explicitly require an 12 7IX17 7wX rather we assume that since it teaches us 7nyTA,

so in a case where she does not want, there is no nwy. However X170 21 asked but in a case where she does want, there

is an 7wy so let it be 7m7 the n">.

11 Both questions of Mooin are answered. We can ask "7y since there is no (extra) P05 that we require Y2 7R 7WR

(it is only inferred in a case where she does not want, for then there is no 7w¥), and according to the answer we indeed

do not need (and do not have) an extra P109 to teach us 12 73%7 AWK, for it is self-understood, since there is no n"77y.
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And the X713 concluded that even if she says. ‘I want him, nevertheless it is not
considered an 7wy, which can be 1m17 a n"? for it is not similar to the n"97Y that is
by nymza 9.

According to this answer the p105 of TwR? 7°1n 891 does not teach us the requirement of 77X AWK
19, only that it must be nny7a, and since she can refuse, this nwy (of TWXY 7°70 R9Y) cannot be M7
an"s.

Moo offers another answer:
= AYYN KD ANTM AUY 2507 T99) ¥I9T NPT NN ") ON

Or you may also say; that we do expound Y7 7X77 WX, from the extra p1oD (as
we assumed in the question), and X372 27 asked that let the 7wy come and be 7m7

the n"', and as to the issue that there is a 109 specifically prohibiting the marriage -
= 5599 229N 1PPAN 19V MN RIP IND IRT HINID 2299NY 7)) RIPT XINN

So we will establish this extra 105 that requires "X 7YX, to exclude NIN>a35 5291
(but not 1R *2»1, for there we say n'"77v), for if there was no extra oo (of X,

77WRY 7°n), we would have permitted the marriage even if they were ninsas s2»n

(where we do not say n"97¥); the reason for this is -
= PPNIYY 9132 1295N PP YA YD DIPY 1395N) DININY

That since the mn*1> 21 were included for ©i? payment, as the X713 stated
previously in the beginning of our 295, they are also included in the obligation of
marriage -

= 1299909 9193 RN DIP NIINT XY 99V *WNINWN INIPY
For the 2100 strongly indicate that wherever there is 0 there is marriage'’ -

A third and final answer:
= YYD R INT) AUY 2119 7999 2917 9919 ¥ 9123 ON

Or you may also say, that this is what X175 27 asked, ‘let the 72y come and push

away the n"%’ (so they should marry, even if she is P2 X129 787 7K) -
= NDT NNYT Y92 XONM 9959 19 ON NP Y97 XN 2INY N1 29

And if you will argue (as mo01n did in his question), ‘here it I different we cannot
say N"77v since the 1o teaches that they cannot be married’; if indeed that is your

12 The o9 in ¥3,20 (X¥N) 027 reads "X AWK? AN X9 A0 2w nn "3 10N, The two (03p and 1PXW"1) go together.
Wherever there is one there is the other.
13 This answers both questions; we can ask N'77y even though there is an extra P09 forbidding marriage, but that can
refer to mn°1> °2>°1 only, however by 1I1X? *2> 11 they can marry since n"27¥, and even though (in the X1pon) there is no
n"97y we still need the extra oo for we would have thought that if there is 01p there is 7°XWw2.
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answer, let us derive from here that in all situations an 7wV is not m7an"> -
- NP TV DY Y1) NYY 2PUN N7 23w

And the X3 answered that it is not considered an 7wy, but nevertheless the P2

is necessary to teach us that they cannot get married; the reason we need a 7109 (even though

we just said it is not an 7wy, since she can refuse, nevertheless we do need a P109) -
- VY 2BYUNI DY BPY AWOR KT 199 13%3WN MIN NIP INY INT

For if there was not a »102, we would consider it that it is not possible to fulfill

both of them, the 7wy and the n"% (like by ny1¥a 79°1), even though she can refuse, but that is not

considered that it is possible to fulfill the nwy of WX 7°70 171 -
- NYOY NN SN 1O

Since the main mx2 is that they marry (but not that she refuses to marry. That is not 1p

) -
$NYD D99 IND £ DIPNA NWYINT (x,x3 91 NNAT 7 PIDI 1999INRT 9997 99

Just like we say in the second pap of n»as noon that 73°%n instead of 212° is
worthless, since the main 737 is 012’ not 7%°%m; similarly here the main 7137 is marriage.

Summary
An 7wy can be 7mM7 a 0", but not a 7wy n"2. NMvoIN offers three explanations why

we can say N7V here by a 01Xn, even though the 71710 writes TWKR? 710 191, meaning
2 IR IWR.

Thinking it over

MooN asks, how can X370 21 ask that we should say n"%7¥ and he should be permitted
to marry her, when the 770 requires Y2 777 7wX.'* Seemingly what is mooin
question; in a case where we can say n"27¥ (like by a naman), she is 1% 7789, and the
0D which exempts an 7wX which is not 2 7R", is discussing other cases where
n"97v does not apply, like 927 Ny 72 R¥A1 or NN °20; what is '0n question?!

14 See footnote # 8.
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